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1.	
  Infrared	
  activity.	
  	
  CO2	
  is	
  a	
  linear	
  molecule,	
  with	
  4	
  normal	
  modes	
  of	
  vibration	
  
(two	
  are	
  degenerate	
  bending	
  modes.)	
  	
  (a)	
  By	
  symmetry	
  it	
  is	
  easy	
  to	
  deduce	
  
unambiguously	
  the	
  eigenvectors	
  of	
  the	
  two	
  non-­‐degenerate	
  modes,	
  and	
  to	
  chose	
  a	
  
pair	
  of	
  eigenvectors	
  for	
  the	
  degenerate	
  modes.	
  	
  Three	
  perpendicular	
  mirror	
  planes	
  
are	
  sufficient	
  to	
  distinguish	
  the	
  symmetries	
  of	
  these	
  modes	
  from	
  each	
  other.	
  	
  
Explain.	
  	
  (b)	
  Why	
  does	
  CO2	
  (and	
  also	
  N2	
  and	
  O2)	
  violate	
  the	
  “3n-­‐6	
  rule”?	
  (c)	
  Why	
  is	
  
CO2	
  (but	
  not	
  N2	
  and	
  O2)	
  a	
  “greenhouse	
  gas”?	
  

2.	
  Kittel	
  p.	
  103	
  problem	
  6	
  

	
  

3.	
  Ibach	
  and	
  Lüth,	
  problem	
  4.1	
  p.	
  104	
  

	
  

Of	
  course,	
  it’s	
  the	
  center	
  of	
  energy,	
  not	
  gravity.	
  	
  You	
  should	
  construct	
  a	
  localized	
  
disturbance	
  as	
  a	
  superposition	
  of	
  propagating	
  plane-­‐wave	
  normal	
  modes	
  centered	
  
around	
  a	
  central	
  wave-­‐vector	
  q	
  with	
  central	
  frequency	
  ωq.	
  

4.	
  Ibach	
  and	
  Lüth,	
  problem	
  4.3	
  p.	
  104	
  

	
  

Use	
  the	
  simplest	
  possible	
  linear	
  chain,	
  all	
  masses	
  equal	
  except	
  the	
  one	
  defect.	
  

	
  


